LINEAR COORDINATE SYSTEM, ABSOLUTE VALUES, AND
INEQUALITIES
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B.
6.7x-5=>5
Step 1. 7x-52>5
Step 2. 7x-5+5=25+5
Step 3. 7x =10
Step 4. 77xZL;)
Step 5. XZ%

7.10-6x<2 .
Step 1. 10 - 6x <

Step 2, (De(;“m ‘ l‘z
P‘S@J\ \ L C @@

Step 4. __6; > —
Step 5. X > g
8.16x-7|=3
Step 1. |x| = x (if X is zero or a positive number).
|x| = -x (if x is a negative number)
Step 2. 6x-7=3, and 6x-7=-3

Step 3. Solve each equation.

a. 6x-7=3
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10.4<2x+2<10
Step1.4<2x+2<10
Step2.4-2<2x+2-2<10-2

Step3.2<2x<8
2 2x 8
Step4d. - < — < =
2 2 2

Step5.1 < x< 4
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